e R RE UG TPRR S FEAL Z T
http://tndai s.coa.gov.tw/view.php?catid=382

B pAIPicER
1.0 % 100.04.25 %18
1.1 %< 100.05.02 %=
1.2 % 105.01.01 # =

FiL - , . F 2ERy | B

BEH | 94%F AP kR A 3,000 15 = C4
A% F L i Bk A 600 21 = M5, A1
500bif & 57 5 Mg | 3000 12 F5
5006 & -k 3000 12 F5
500g/L (50%wi/v)if ;= 5-k &4 | 3000 12 F5
18.7%:E & 7. 57 K & 4t g 1,500 9 = F5, C3
A8Y%o-18 3. G 7 ;R A 750 15 = M1, 27
23%; 3= 77K A 2,000 15 = C3
53%4% 4 4 & i %ok A KT 400 21 = M3,A1
)
580644 4k i # 7 R4 A 400 21 = M3, A1
T1.6%4F i iE %7 R4 H| 600 3= M1, A1l
00/0@27 /FL ¥ /,E.?é fiﬂlv =l 400 7 x M3
A8Y%t™ A fin 4 5 1,000 — M1
T2%4 45 5. G 7 R 750 21 = M3, 27
75%4r 4% Mk FF 1ok A fot el | 1200 21 M3,22
23.2%% v ts ok 1,000 15 = B4

. . | 2x10°cfulg %k E RA2 R | 224033 4 BT 3 (1:200

“;* 2 (Wiw)) £ #4612 200

& s AR 245 4

B ® oo

LR | 23.6%F 5 AT | 3,000 9 = C3

2o | 10%F Ak E (7 )7 RIS A 1,000 - H4
21.2% % % 71| 54 A 1,500 12 = G1
75% & B F % VORI A 700 21 = M5
75% & B F %ok A fopd 700 21 = M5

wiF . | 68.8% % 4ak E T R A 1,000 12 = B1,25

R | 12.5%4a0 % i iR 1,000 - 25
75%45 4% i FF 1ok A fok il | 1200 21 M3,B3

0 4 | 50%E F FF R A 3000 12 F5
500%:£ & -k | 3000 12 F5

B pag pis#H 1050101.docx 1



e R RE UG TPRR S FEAL Z T
http://tndai s.coa.gov.tw/view.php?catid=382

 r Rl | er B
A L4 R | i;";” . ?J
500g/L (50%wi/v) i ;= <7k ) 3000 12 F5
FIT R | S0%H = B 7 Rk A 2000 14 % E3
Ao | 50%3 R % T ORI A 2000 14 = E3
Al | 37.5%0% B Bk A T 1,000 14 = 12A, 7B
,p/‘: ﬁL 25%:= \Fk }\E&;’?’J 750 14 = 12A
91.206A1 ' R4t % & F 424118 —
A A
33% 1 & % % 5 H| 1,000 12 = 1B, 3A
30%/7 & % % 5| 1,000 10 = 1B, 3A
350%% BT RS A 3,000 15 = 1B
2.8%2 8 5| 2,000 9 =< 3A
2.5% 8 35 -k 5 | 2,000 9 = 3A
2.5% % it B B A 2,000 9 = 3A
2.46%% it # B R F i 2,000 9 =< 3A
2.8%3 it % 5| 2,000 9 = 3A
58%% 4 3L 1,000 4 = 1B
50%.5 $ x> 54 | 500 4 = 1B
20%%< 1+ -k 3 5 A 3,000 14 = 3A
20%%< i+ 41 54 | 3,000 14 = 3A
20%%< i 41 5 | 5,000 7 = 3A
20%%< i+ 41 7 B A 5,000 10 = 3A
5% %< it 41 54 & 2,000 10 = 3A
40.64% ¢ 15 4% K & 1,200 1A
10%F = % 7 ;R A 3,000 3A
10% ;= % 54 3| 3,000 3A
25%.= AGHe T R | 1,500 23 = 15
20 i A e A] 40 2 7/ RRL 1B
‘g
7 *g% 3% v A& P 50 = 7 /2 B 1B
(Zk % W
. Y
NONET T I 02 5/a | 28= 1A
7 e i) .
22 5% 24> 51 | 700 10 = 1B
2

B pag pis#H 1050101.docx




LA FLERAB SRR RS FEST AR

http://tndai s.coa.gov.tw/view.php?catid=382

T el | fen ,
N LA . 4ei:;{J ix:ﬁl
40.8%1% 274> 51 A 1,000 10 = 1B
40.8% g 21>k £ 51 3| 1,000 10 = 1B
40.64%*v %% K R | 1,200 15 = 1A
3%e iF-3% o] 50 &7/ | wge 1A
3% M § 45 # 14 = 2A
=R
0.5% % i+ 50 =7 /2 T_E 3A
ﬁ
2904 A5 ks A STl 10 = 1B
ﬁ
S5%rFa Bri k| AN A 10 % 1B
‘B
10%3 45 +> -] Sl | Hme 1B
A5%3 K 5t A 300 AT 1B
3% e (53 A 202712 | s 1A
25%0f% #1851 & 1,000 T_E 1B, 3A
60%E #7#k # 7 E-911(30,000 1,000 —
DBMU/mMQ) ¥ & |+ 45 &
20%a, = =R A ATk 3,000 18 = 28
300g/L %L F koK R 3,000 12 = 4A, 28
18.4%zx)] & 34 -K R & 3,000 12 = 28
80%5} ZE M (B4 A 7,500 10 = 5
- 15%%t %38 51 2,000 21 % 21A
15%% %38 - K J& &) 2,000 18 = 21A
22%% 3, 7K Rk 1,000 18 = 22B
10%#x # ﬁ | AR F e ke 1,000 — 11
15%g 4 FA-k A Rt 1,500 — 11
21.5% %)= iT 51 A 2,000 18 = 6
5% F]i% i oK i3 1A 5,000 9 = 6
11.6%F) 64k - K R & 3,000 6 % 5

B pag pis#H 1050101.docx 3




e R RE UG TPRR S FEAL Z T
http://tndai s.coa.gov.tw/view.php?catid=382

= ~dnucdy | (e ,
FH LA e —l:i;;:i:c,‘? ix;’i#l
2.5%F T4k T A 750 6 % 5
A4.2%F% 5B - K T A 10,000 10 = 5
1% 4 7k A& 1,000 — 11
10.4%# * FF) K & A 700 — 11
48.1%pk 4 )7k A ST A 4,000 — 11
3.8%Fk 4 F ¥ IR A 1,000 — 11
#& 4 7 160001U/mg ¥ ;24 1,000 — 11
2|
#& 4 7 320001U/mg -k A %7t 3,000 — 11
e
3%k F T R A 1,000 — 11
4.5%0% H & 5 A 1,000 —
10% 5. =% K 5@ A 1,000 14 = 13
50%¢. & & ¥ R | 1,000 6 = 14
25% . 3¢ i 51| 500 10 = 14
25%i% % H5 oK R A 750 6 % 12A
200f% = ;7 5L | 2,000 15 = 6
5% 5. A& 4 54 & 2,000 6 % 15
15%1% A& 1+ F1 5 H] 2,000 15 % 15, 3A
S% i A P4 51 | 2,000 9 = 15
13.57%75 48 F5_- K R A 4,000 12 = 15
56%~+ # -k H U 1,500 14 = 1B
60%~ # Fa35bH| 1,500 14 = 1B
58%7% # a5t 1,000 4 = 1B
50% 7k i > 5 &l 1,000 15 = 1B
2500 A5 > 51 A 500 10 = 1B
50%% 7 a5t A 1,000 10 = 1B
26.3%7; 3 > 51 A 500 10 = 1B
43%:F 5 > 54 A 1,000 12 = 1B
50%F Fr 54 A 1,500 24 % 1B
S0%z5 -+ FK 7% 1k A 1,000 10 = 14
20% 4 3% o 5U A 500 12 = 1A
40%:& Lo 5L A 800 21 % 1B

B pag pis#H 1050101.docx 4




e R RE UG TPRR S FEAL Z T
http://tndai s.coa.gov.tw/view.php?catid=382

T Bl | e B
FH LA e % i;;:{:c,} ix;’i#l
10% % 1 4 54 3,000 10 = 3A
20% %< it 1 -k 2k 54 4,000 10 = 3A
20% %< it 1 54 4,000 14 = 3A
20%%5 1t 417 R A 5,000 10 = 3A
20% %< i+ 1 5 5,000 7= 3A
5% 1t 4154 4] 2,000 7= 3A
10%7F /= & ¥ &2 A 2,000-3,00 4 = 3A
0
10%7F = & 54 H| 2,000-3,00 4 = 3A
0

40.64%*4¢c %% 7K R A 1,200 15 = 1A
B% % & % 7 4L Al 1,500 6 = 3A
5%% e 8K AL S| 1,500 6 = 3A
5%% R B gl A 1,500 6 = 3A
5%% P | 1,500 6 = 3A
2.8%% ;= B /K AL 5L A 1,000 6 = 3A
2.8%% ;= B 5L & 1,000 6 = 3A
90%F By & -K 7% ks A 2,000 9= 14
25%r 4 218 LA 1,000 6 = 1B, 3A
10% % 4 % 54 3 4,000 9= 3A
31.6%:E % B LA 8,500 15 =% 3A
25% % A 5 | 800 10 = 1B
7% Bt K% 10 A 1,500 14 = 1B
5967 7 7 A 1,000 10 = 1B

5 g | 58%% 4 frqi A 1,000 4= 1B
25965 > 5 | 500 10 = 1B
26.3%1; 4% 54 A 500 10 = 1B
20%% i* -k A5 Al 3,000 14 = 3A
20%7%% 1+ 115 4| 3,000 14 = 3A
20%7%- it 417 R I“ﬂ‘ ke | 5,000 7= 3A
20%7%- it 41 % 5,000 7= 3A
5%7% 1 1 ‘“3?' 2,000 10 = 3A
3% 1 T R A 1,500 - 1

B pag pis#H 1050101.docx




16 F P LSRR RS R R
http://tndai s.coa.gov.tw/view.php?catid=382

T Eman | T B
FH LA e —l:i;;‘i:c,? p;zzﬂ
40.64%%c 5-4= -k 5 Al 1,200 15 = 1A
10%F /& % 7 iR {14 Al 3,000 2~4 = 3A
10% & & 54 4| 3,000 2~4 % 3A
%% & % 7 iR A 1,500 6 = 3A
5% % % i | 1,500 6 = 3A
5% % i % 5 Al 1,500 6 = 3A
50%*4r A ¥ R 1,000 7= 1A
85%4c A7 JR 45 A 1,700 7= 1A
58%7% + 3\ | 1,000 4 = 1B
. |3%E! FT REE A 1,500 - 11
ﬁ'“f . . | 60% (30,000 DBMU/mg) & #7 | 1000 —
e BRI EOLL T g A
T | 300g/L F i % ok R A 3000 12 = 4A, 28
20% & * ;&K A FoH e 3000 18 = 28
4. AYoi% 5 1e 74 A 1,500 18 = 15
18.1%% & % ;% % 54| 5,000 10 = 3A
2 1506 F);% = 54 4 2,000 6 = 6
5YOF 4 B -k A FTH ] 3,000 14 = 3A
50%F S 7 R 145 A 1,000 12 = 1B
50%¢. & & ¥ Rk | 1,500 6 = 14
50%¢ 48 > 54 | 1,500 20 = 1B
- 1%% ;3 % 74 4 1,500 6 = 3A
S0 B D 5% it ¥ Heq A 2,000 6 = 3A
2.8%% it % 514l 2,000 6 = 3A
2.5%% 1+ F1 54 Al 2,000 6 = 3A
28%E & 5 A 2,000 9 = 3A
2 5008 3% K R A 2,000 9 = 3A
1% % & % 544 1,500 6 = 3A
A0%5 % F % 7 R EE A 2,500 9 = 1B, 3A
5% 18 45 14 5 | 2,000 9 = 15
25001 BT R 145 | 1000 10 = 1B
A5%F i > 5 A 1,000 10 = 1B

B pag pis#H 1050101.docx




LA FLERAB SRR RS FEST AR

http://tndai s.coa.gov.tw/view.php?catid=382

= NE ol | e ,
N LA i —l:i;;:i:c,‘? ix;’i#l
3%F* ) RN R 1,500 — 11
5%% PC R ¥ & o 2 | 1,500 6 = 3A
5%% el A | 1,500 6 = 3A
5%% e B Y A 1,500 6 = 3A
5% % i % 5 Al 1,500 6 = 3A
20065 i 117 R 45 A 5,000 10 = 3A
20% %< i+ F1 5 A 5,000 7 = 3A
20065 it -k £ 54 &) 4,000 14 = 3A
20% %< 1+ F1 54 A 4,000 14 = 3A
5067 - F1 54 4| 2,000 10 = 3A
40.64%*v %% K R | 1,200 15 = 1A
10%7F = & ¥ &2 A 3,000 2~4 = 3A
10%7F = & 54 H| 3,000 2~4 = 3A
50%F B & ¥ R Mk A 1,500 10 % 14
75% %0 M b K 73 145 1,500 14 = 1B
25%F A% > 5L A 500 10 % 1B
4 5%F5° $1 % 51 & 1,000 —

2.15% 7] ;= ;T 51 & 2,000 18 =% 6
S%F]i=s i7 oK% Mk 5,000 9= 6
25% ¢ & E 5L H| 500 10 % 14
50% #. i £ ¥ R4k 1,000 6= 14
25%;= %14 - K R A 750 14 15
5%7% 1 54 H 2,000 10 % 3A
10% 7% 1 1 54 A 3,000 10 % 3A
2.5%F) % Ao K Tt A 750 6= 5
11.6%F% % 4K R 3,000 6 = 5
35%0% b T B E | 3,000 15 = 1B
60% (30,000 DBMU/mg) & #r | 1000 —
Fe4 ] E-911 ¥ iR 44 A
300g/L % R K 5h KRR 3000 12 = 4A, 28
20% & = ;R A HTied 3000 18 = 28

27 B 5E | 16%7 R 7 KR Mk 4,000 15 = 4A

B pag pis#H 1050101.docx 7




16 F P LSRR RS R R
http://tndai s.coa.gov.tw/view.php?catid=382

T TS
FH LA e —l:i;;‘i:c,? p;zzﬂ
25%0F it & -k B ] 5,000 12 = 4A
20%:% # & oK 7B A ] 2,000 6 = 4A
1% 2 /7 5 1,500 6 = 6
20003; 72 35 ki3 1A | 6,000 12 = 4A
18.2% % i ek g A 8,000 9 = 4A
10.5%%k i 1 4 3 54 ) 1,000 9 = 3A, 1A
3.75%% i+ % 51 A 1,500 6 = 3A
5007 +£ % -k # 5#| 2,000 21 = 3A
5.7%% + % 7 | 2,000 21 = 3A
58%7% 4 5| 1,000 4= 1B
50%.5 = > 5 H 1,500 4 = 1B
3.5%,. % #F 5 Al 500 4= 21B
500 if +2 5 1,000 15 = 1B
50%s33 = -k i 14 1,000 10 = 14
5000 4r 3 7 R4 | 2,000 10 = 1A
40.64%*x 4% -k & | 1,200 15 = 1A
2004 % 3. 5 | 500 12 = 1A
3% e -3¢ o] 40 = 7/ 1A
g
2.8%% & % -k 5 A 1,000 6 = 3A
2.8%% % % 5 A 1,000 6 = 3A
3L.6%:E % 5 A 8,500 15 = 3A
6% %dk i3 % 1500 -
20%:if H @ -k ip R 3,000 3= 4A
2001; 74 35 ki3 1A | 2,000 6 = 4A
50%.5 24> 5 A 600 4= 1B
43%i & 54 1,000 10 = 1B
FEE | 2% T T | 2,000 15 = 6

B | 50%ss 2 ki s A 1,000 10 = 14

6%s33 = f A 30-40 27 | 30= 14
B

10%8: #3373 % 200 6 = 1A
50%¢e 417 R4 A 500-1,000 7= 1A

B pag pis#H 1050101.docx




15 F R LR AT R RS R R
http://tndai s.coa.gov.tw/view.php?catid=382

w2 4 o 2R TR S
#ﬁd V?‘F‘ ﬂ'_ﬁ "5& $_.g, fjﬁ %u

85%-*r |7 R ks 850-1,700 7= 1A
| 20%E % K A 3,000 3= 4A
A 006t 1% 5 K 3 A A 4,000 12 = A
iEiA | 35%0 BT R A 3,000 15 = 1B
A~ Rk | T5%FE R T R A A 3,000 6 = 1A
5| 45%% & 5 1,000 -
2.15% %] ;7 54 A 2,000 18 = 6
5068 i K i3 T A 5,000 9 = 6
25% 4. i# if 54 A 500 10 = 14
50% . & i 7 R4 A 1,000 6 = 14
25%bi% 514 oK & A 750 14 = 12A
5965 1t 4154 Al 2,000 10 = 3A
10%75 1+ 415 A 3,000 10 = 3A
2,508 3% ok Al 750 6 = 5
11.6%85 354k 74 A 3,000 6 = 5

60% (30,000 DBMU/mg) £ #7 1000 —
g4 ) E-911 ¥ 3 42

300g/L 7 iF % % K e Al 3000 12 = 4A, 28
20% 4 ~ i3 KA EolE Al 3000 18 = 28
e | 1BA%% kA 2500 12 28
IR 350k 24 ok A STl 5000 12 28
3 5 1 | 45%% % A 1,000 -
IRA AT | 2.15% 5] i 5 A 2,000 18 = 6
B5O6F)# i oK 7% A 5,000 9= 6
25%4. 3% i 5 Al 500 10 = 14
50% 4. i <& 7 B 124 A 1,000 6 = 14
5%~ 514 K et A 750 14 = 12A
5965 1t 41 5% Al 2,000 10 = 3A
10%35 1+ 415 A 3,000 10 = 3A
2,590 7Moo 5 | 750 6 = 5
11.6%85 32 %k & A 3,000 6 = 5
300g/L 7 it % %K B A 3000 12 = A, 28

B pag pis#H 1050101.docx 9



TaF P XS FRS

Setid A 2

http://tndai s.coa.gov.tw/view.php?catid=382

B pag pis#H 1050101.docx 10

P T Ty
A L4 R | i;";” . ?J
60% (30,000 DBMU/mg) & #7 | 1000 -
i g B FIEOILT S
300g/L 7 i % 25k BB A 3000 12 = 4728
20% & %% kA Aop Al 3000 18 = 28
BEEE | o g peon i 1500 .
BEAA B 0T J I
7% i £ 7 R Al 5,000 7% 17
SO | BO%R A 7 iR 800 7= 17
5| 05%F L gl 6025/~ | 15= an
g
1 —ar ot
2. IHTFHLAUIABH AL LR AU EME AN T 24
Wz ~L AR TREETARGE ) ~F i E-mat e
3 %@ %R FASHLT RIS R 06-5912959




